


OIPASIIEH 2 01210l X2 (SR ES)

0= m=0121 Jhe 2 o o = (el Hg)

2 - BH - B(S]H) - HEA of o pJET HIDS2
Qb= AT} 123,926,952 118,272,740 5,654,212
= 46,680,705 52,966,898 AB,286, 193
s 47,183,000 45,233,000 1,950,000
| 150,000 0 150,000
& 200,000 200,000 0
& 29,713,247 19,872,842 9,840,405
ASTIBE & ol X (=s Z=hb ) 115,512,563 110,983,969 4 528,594
= 46,098,205 52,684,873 A\B,586,0668
s 41,836,000 40,336,000 1,500,000
S 200,000 200,000 0
< 27,378,358 17.763.006 9.615.262
ZE HFOAH S L ol k4 =& 24,451,235 24,406,655 44 580
= 1,588,605 1,551,173 37,432
s 19,531,000 19,531,000 0
& 3,331,630 3,324,482 7,148
ZAEY HSHHA (M 201 49,428 43,470 5,958
= 27,460 24,150 3,310
& 21,968 19,320 2,648
308 KIXISHHISOIA 49,428 43,470 5,958
= 27,460 24,150 3,310
< 21,968 19.320 > 648
10 SIS0 CHEHE AN EFAIZHI 49,428 43,470 5,958
Ozf=A A 2D 49,428 43,470 5,958
= 27,460 24,150 3,310
& 21,968 19,320 2,648
EAZNS AN 930,505 931,383 878
= 930,505 931,383 A\878
308 AR SHIZ01 930,50 931,383 878
= 930,505 931,383 A\878
01 XIXIHNHEAEXZ 930,505 931,383 A878
OXHELIKSE =4 930,505 931,383 A\878
2 930,505 931,383 £878
HEKAH &= 276,500 237,000 39,500
= 245,000 210,000 35,000
< 31,500 27,000 4,500
403 XXISHISAH=0|M 276,500 237,000 39,500
= 245,000 210,000 35,000
c 31,500 27,000 4 500
B EEES 276,500 237,000 39,500
OgRA B& & =Ho=E 237,000 237,000 0
= 210,000 210,000 0
< 27,000 27,000 0
OgRA BEX & SMHEE0I) 39,500 0 39,500
= 35,000 0 35,000
< 4,500 0 4.500
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SH: oA
BE: ORASIIB U 00l KB (SPHSLA/ WYL - 0fF)

CHRl OfEIRIM o RIS (SH9): &)
2A - FHH - SR(FH) - HRAKY - BES Oil &hoH J|ZH Hunsz
SEEEIEIETEES 71,324,400 70,942,400 382,000

2 43,418,000 50,400,000 16,982,000

2 10,700,000 10,700,000 0

< 17,206,400 9,842,400 7,364,000

OIEBFO0IE AlLEE 2,680,000 2,000,000 680,000
403 REXISHHIS K201 & 2,680,000 2,000,000 680,000
01 XIXISHKTZEE 2,680,000 2,000,000 680,000
OUEZZ0 AILSBA 2,680,000 2,000,000 680,000
RIZH013H 214 (XEA) 2,300,000 1,400,000 900,000
401 A&BILECHY| 2,300,000 1,400,000 900,000
01 AI&HI 2,300,000 1,400,000 900,000
OXIZ0{g ALARI () 2,300,000 1,400,000 900,000
NEREEEIEETT 620,000 420,000 200,000
401 AIEHIL S| 620,000 420,000 200,000
01 AI&HI 620,000 420,000 200,000
OXIZO{EAIZA (S2HI) 620,000 420,000 200,000

01 5= 2I300A 1€ 49,002,000 50,400,000 1,398,000
2 43,418,000 50,400,000 6,982,000

= 5,584,000 0 5,584,000

403 THXISHHISTH=01 & 49,002,000 50,400,000 1,398,000
2 43,418,000 50,400,000 26,982,000

= 5,584,000 0 5,584,000

01 RXISHIH= 2 E 49,002,000 50,400,000 1,398,000
O0IE = E300AH] 49,002,000 50,400,000 1,398,000

2 43,418,000 50,400,000 6,982,000

= 5,584,000 0 5,584,000

HABFBH L GFFsH 2 6,909,599 3,865,585 3,044,014
= 628,900 475,000 153,900

2 3,490,000 1,990,000 1,500,000

= 2,790,699 1,400,585 1,390, 114

EEZBMIF OIIIoH 2= 840,514 3,000 837,514
403 REXISHHIS K201 & 837,514 0 837,514
01 XIXISHKZEE 837,514 0 837,514
OHEEZ BUIE BAIBE 837,514 0 837,514
GHUMD| 474 - U X 1,950,000 0 1,950,000
2 1,500,000 0 1,500,000

= 450,000 0 450,000

403 THXISHH S TH=01 & 1,950,000 0 1,950,000
2 1,500,000 0 1,500,000

= 450,000 0 450,000

01 XIXISHXESE 1,950,000 0 1,950,000
OMSMAI| 471 - 2B AX(SY) 1,950,000 0 1,950,000
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SH: oA
BE: ORASIIBE U 00l KB (SPHSSA/HYLA - 0fF)
ool HYBASH U OEIHM 29 (Sl &)
S - E - SRI(SH) - AIRAR - LS o8y pJE-Ll HimE=T
= 7,500,000 0 7,500,000
= 450,000 0 450,000
HICHRETIZOl X2 256,500 0 256,500
2 153,900 0 153,900
= 102,600 0 102,600
308 XHXISHHISOI R 256,500 0 256,500
2 153,900 0 153,900
= 102,600 0 102,600
B ELEREES] 256,500 0 256,500
OBICHERTIZI0l X2 256,500 0 256,500
2 153,900 0 153,900
= 102,600 0 102,600
ciorRre] @ G108t X4 6,431,844 6,327,844 104,000
2 137,700 33,700 104,000
2 5,140,000 5,140,000 0
A 200,000 200,000 0
= 954, 144 954, 144 0
=T B L KW 104,000 0 104,000
2 104,000 0 104,000
403 THXISHH S TH=01 & 104,000 0 104,000
2 104,000 0 104,000
01 XIXISHKTZEE 104,000 0 104,000
ON+S 0188y N3 X 104,000 0 104,000
2 104,000 0 104,000
SU2 RSHY NN o BW Lst 6,395,485 5,441,485 954,000
2 325,000 225,000 100,000
2 2,975,000 2,975,000 0
= 3,005,485 2,241,485 854,000
ESNENNTES 37,000 34,000 3,000
308 XHXISHHISOI R 37,000 34,000 3,000
B ELEREES] 37,000 34,000 3,000
O448 AHIZT HAKE 37,000 3,000 3,000
2LHAS SESENTME 2 800,000 0 800,000
401 AIZHIL S0 800,000 0 800,000
01 AIZH| 800,000 0 800,000
O4ESENFME 21 800,000 0 800,000
RIXA 1 +42 +5 S 091D Al 50,000 0 50,000
2 50,000 0 50,000
307 21201 F 50,000 0 50,000
2 50,000 0 50,000
05 OIZH9IErS 50,000 0 50,000
O 442 48 3S 0BIY X2 50,000 0 50,000
2 50,000 0 50,000
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SN YA

ZH: OfRIASIIE L 0ROl MR (SYHSLM/HYS - 0fF)

SRl 442 RSN TR L AW 25 (Sl @)
S - E - SRI(SH) - AIRAR - LS o8y pJE-Ll HimE=T
NI o +42 28 23S 0BIZ AR(AIZ) 50,000 0 50,000

= 50,000 0 50,000

308 AFXISHHISOIE 50,000 0 50,000
2 50,000 0 50,000

01 AXIEMEAEES 50,000 0 50,000
OAlzZ =4t =& 55 0BIE X2 50,000 0 50,000

= 50,000 0 50,000

T SUE NSRS B AL 2= 51,000 0 51,000
403 XIS SKH=0l1& 51,000 0 51,000
01 XISHA=ZE X 51,000 0 51,000
O2Z it M2RS i AMIAY 2= 51,000 0 51,000
a2t SH(sHolta/ai2d=4 - HE) 8,319,640 7,194,022 1,125,618
2 562,500 282,025 300,475

s 5,347,000 4,897,000 450,000

Jl 150,000 0 150,000

= 2,240,140 2,014,997 225,143

oHellE= &3t 700,990 550,990 150,000
= 83,000 83,000 0

] 160,000 0 160,000

= 467,990 467,990 0

Ol=4AZ2H 2HEHE 400,000 250,000 150,000
Jl 150,000 0 150,000

= 250,000 250,000 0

308 AXIHHSOIA 400,000 250,000 150,000

Jl 150,000 0 150,000

= 250,000 250,000 0

01 AXEHMBAEES 400,000 250,000 150,000
O0l=41ZZ 2 MEHS 400,000 250,000 150,000

Jl 150,000 0 150,000

= 250,000 250,000 0

ozt & YE=x Al X4 7,618,650 6,643,032 975,618
= 499,500 199,025 300,475

s 5,347,000 4,897,000 450,000

s 1,772,150 1,547,007 225,143

HEMENES MRE HE X 259,350 258,732 618
= 199,500 199,025 475

= 59,850 59,707 143

308 AFXISHHISOIE 259,350 258,732 618
2 99,500 99,025 475

= 59,850 59,707 143

01 AXIEHMBAEES 259,350 258,732 618
OOEHEOIE ARY HE X 259,350 258,732 618

2 99,500 199,025 475

= 59,850 59,707 143
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S YLD
HE: YUK BY S (SHHSSL/ WYL - OE)
el YRR L dlEE AlE =4 (Erel: @)

2A - FH - A2(3H) - HISAIY - BES Ofl &bt J|EH HlwszZ
HABBRRAIL (RS AL 2LHe) 585,000 0 585,000
2 450,000 0 450,000
= 135,000 0 135,000
403 XEXISHI S K20 & 585,000 0 585,000
2 450,000 0 450,000
[ 135,000 0 135,000
01 AXISHA=EX 585,000 0 585,000
OXIS FAYIA SLH2| =4 585,000 0 585,000
2 450,000 0 450,000
= 135,000 0 135,000
Of2ILE HIZAIE HE 390,000 0 390,000
2 300,000 0 300,000
= 90,000 0 90,000
403 XEXISHI S K20 & 390,000 0 390,000
2 300,000 0 300,000
[= 90,000 0 90,000
01 IXISHHIAGEE R 390,000 0 390,000
ODI2IL} HIZHIE 242 390,000 0 390,000
2 300,000 0 300,000
= 90,000 0 90,000
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SN ORRED
HE: DN N U PENE(SYHSA/ HYSL - 0fF)
ool 201 PE A (SH2l: &R)
S - E - SRI(SH) - AIRAR - LS o8y pE-T HimE=T
oliRED 41,505,646 43,143,431 ~1,637,785
2 19,704,905 21,388,305 1,683,400
2 8,546,000 8,546,000 0
= 13,254,741 13,209, 126 45,615
EEEEREEEIE 41,446,692 43,084,477 ~1,637,785
PEWB(SBHLSL /YA - OfE)
2 19,704,905 21,388,305 1,683,400
2 8,546,000 8,546,000 0
= 13,195,787 13,150, 172 45,615
GI2EHOIY PE e 6,413,435 8,377,600 ~1,964, 165
2 5,463,000 7,209,000 A1,746,000
= 950,435 1,168,600 £218, 165
O12GHOf 41 245 (21240 &) 4,646,250 6,637,500 ~1,991,250
2 4,130,000 5,900,000 A1,770,000
= 516,250 737,500 ~221,250
403 RXISHHISTH=0I & 4,646,250 6,637,500 ~1,991,250
2 4,130,000 5,900,000 A1,770,000
= 516,250 737,500 ~221,250
01 AXISHINELE 4,646,250 6,637,500 ~1,991,250
OLLIISIETES 4,646,250 6,637,500 A1,991,250
2 4,130,000 5,900,000 A1,770,000
= 516,250 737,500 £221,250
R EEE] 169,285 142,200 27,085
=2 150,000 126,000 24,000
= 19,285 16,200 3,085
308 RXISHHISOIR 169,285 142,200 27,085
= 150,000 126,000 24,000
= 19,285 16,200 3,085
01 HASHINEES 169,285 142,200 27,085
OMEE P2 169,285 142,200 27,085
=2 150,000 126,000 24,000
= 19,285 16,200 3,085
SAMS TN 2 =T 16,991,803 16,881,803 110,000
2 11,264,005 11,264,095 0
2 1,250,000 1,250,000 0
= 4,477,708 4,367,708 110,000
4 ITBE 25 At 110,000 0 110,000
308 RXISHHISOIR 110,000 0 110,000
01 HNSHINEES 10,000 0 10,000
Ox4t ITBE 252018 2D2Z2) 80,000 0 80,000
Oxdt ITEE 2UsHTH IR 30,000 0 30,000
N EE 9,359,358 9,269,358 90,000
2 6,056,000 6,056,000 0
< 3,303,358 3,213,358 90,000
SATHE ARFAAIE E&(ZFX)(2IIET) 90,000 0 90,000
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A OHIEDL
M HIHAHY XSS Y RARINE(SEHL A/ HL=4F - HE)
CHol: 2ATIRIEA (E49l: &)
S - B SR(3) - HRAY - BES o8y pE-T blmz2
403 XX HHSK201& 90,000 0 90,000
01 HXISHMAZ2EER 90,000 0 90,000
O Ak AT ZH(LHX) (SIEEXR)
90,000 0 90,000
HA2ohHY 2N = 2,627,946 2,582,946 45,000
= 1,451,210 1,451,210 0
S 1,176,736 1,131,736 45,000
L= RSE ADIE 2AE SXIKIRA 45,000 0 45,000
403 XXIHH S H=0l& 45,000 0 45,000
01 AXISHt=EE 45,000 0 45,000
OUl==H Tetd ADE 2AE ZX| XA 45,000 0 45,000
AN H1F 6,054,150 5,972,770 81,380
= 1,526,600 1,464,000 62,600
= 1,240,000 1,240,000 0
= 3,287,550 3,268,770 18,780
ZEE UK EZEEH ESAY 1,399,580 1,318,200 81,380
= 1,076,600 1,014,000 62,600
= 322,980 304,200 18,780
403 XX HHSAH=01& 1,399,580 1,318,200 81,380
= 1,076,600 1,014,000 62,600
= 322,980 304,200 18,780
01 XISHMAZ2EER 1,399,580 1,318,200 81,380
OL=J|2-FH- & X|- WA 1,369,254 1,287,874 81,380
= 1,053,272 990,672 62,600
= 315,982 297,202 18,780
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SN SADIEAIRA
B a0l NS 22 (SYHLSL/ LR - 0fF

SRl A0 X2 EERE)
S - FE - SRI(BH) - AIRAY - BSS LD 71y B2

EFIEINEEN 7,472,904 7,472,904 0

= 3,011,309 3,011,309 0

7 1,951,539 1,951,539 0

= 2,510,056 2,510,056 0

20| XE BB (SYHYL/HYS4 - 0fF) 5,940,611 5,940,611 0

= 3,011,309 3,011,309 0

= 419,246 419,246 0

= 2,510,056 2,510,086 0

NI 2,648,211 2,648,211 0

= 1,412,309 1,412,309 0

= 269,246 269,246 0

= 966,656 966,656 0

NSEETnE 34,893 34,893 0

= 24,425 24,425 0

3 10,468 10,468 0

201 et 14,107 11,107 3,000

= 9,875 7,775 2,100

3 4,23 3,332 900

01 AFR2elt] 14,107 11,107 3,000

OYer+gHl L ARl S 14,107 11,107 3,000

= 9,875 7,775 2,100

3 4,23 3,332 900

301 YerEaz 10,286 13,286 3,000

= 7,200 9,300 £2,100

3 3,086 3,986 A900

00 BAAHIZAZ 10,286 13,286 23,000

O4rZgel ng = 10,286 13,286 3,000

= 7,200 9,300 £2,100

= 3,086 3,986 A900

SIE=TIR=ToE=EoNET 97,265 100,515 13,250

= 86, 184 83,684 £2,500

= 11,081 11,831 AT50

308 REXISHHISOIN 97,265 100,515 13,250

= 86, 184 83,684 £2,500

3 11,081 11,831 AT50

01 KRS BALES 97,265 100,515 13,250

OH0HO! HOIHAX 97,265 100,515 13,250

= 86, 184 83,684 £2,500

= 11,081 1,831 AT50

SIEISTIR=TUE=ESNENE L)) 3,250 0 3,250

= 2,500 0 2,500

= 750 0 750

308 REXISHHISOIN 3,250 0 3,250

= 2,500 0 2,500

= 750 0 750

01 KX EHBALES 3,250 0 3,250
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SAT SDIEAIRIA AEARRA
B 20012 NS ED(SATISAYA AFAIRA) (SMHLL /TS24 - OfE)

SC HESC S (Sl &)

SN - B SRS - HRAY - B2 o8y pE-T HimE=T

LADIZAIRIA AFAIRA 2,706,439 706,439 2,000,000

= 123,175 123,175 0

2 1,496,934 496,934 1,000,000

= 1,086,330 86,330 1,000,000

S0|E NS BB(HDISAA 2,054,743 254,743 2,000,000

AHEALR L) (SR THYAL /TS At - O )

=2 123,175 123,175 0

2 1,045,238 45,238 1,000,000

< 1,086,330 86,330 1,000,000

EONEINE 2,254,743 254,743 2,000,000

=2 123,175 123,175 0

2 1,045,238 45,238 1,000,000

= 1,086,330 86,330 1,000,000

IR DS F (AR 100,000 100,000 0

2 70,000 70,000 0

= 30,000 30,000 0

101 21218 45,000 35,000 0,000

2 31,500 24,500 7,000

= 13,500 10,500 3,000

USIE=EN=TERS 45,000 35,000 0,000

OHPRBOT 2% 45,000,000 45,000 35,000 10,000

2 31,500 24,500 7,000

= 13,500 10,500 3,000

201 Ust2gy| 28,000 18,000 0,000

2 19,600 12,600 7,000

= 8,400 5,400 3,000

01 AFR eIt 28,000 18,000 0,000

OURZ U ARBE S 28,000 18,000 10,000

= 19,600 12,600 7,000

= 8,400 5,400 3,000

202 it 9,000 5,000 4,000

= 6,300 3,500 2,800

= 2,700 1,500 1,200

01 =LHOHH| 9,000 5,000 4,000

OUTRBUE 2Y 9,000 5,000 4,000

= 6,300 3,500 2,800

= 2,700 1,500 1,200

206 W2l 18,000 42,000 24,000

= 12,600 29,400 ~16,800

= 5,400 12,600 AT,200

o1 Mzt 8,000 42,000 224,000

OUTDSUE 2% 18,000 42,000 £24,000

= 12,600 29,400 16,800

= 5,400 12,600 AT,200

LMOLHRTA(NBAIRA HAF AIF)(T2) 2,000,000 0 2,000,000

2 1,000,000 0 1,000,000

= 1,000,000 0 1,000,000
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SHT SADISAIRIA AFRAIRA
B 20012 AT SB(SA0ISARA ABARL) (SHSSL/HY24 - OfF)
EH9l: A AO{RIRIR (Srel: &)

S - BB - S9I(3) - HIRAR - BAS o8y 71y HimE==l

401 AlEHIZLSOHY] 2,000,000 0 2,000,000
Py 1,000,000 0 1,000,000

L= 1,000,000 0 1,000,000

01 Al&HI 1,971,000 0 1,971,000
O AEARRA FAF &S A & SAH 1,971,000 0 1,971,000

s 985,500 0 985,500

= 985,500 0 985,500

02 Zeldl 22,000 0 22,000
O AEARRA EAF A= 22l 22,000 0 22,000

fas 11,000 0 11,000

= 11,000 0 11,000

03 Al =0iH| 7,000 0 7,000
O AEAIRA A AF AIZ 201 7,000 0 7,000

s 3,500 0 3,500

S 3,500 0 3,500
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2A:

HaH: HESHBH|(SAD|SALA DEASA)(JIEHIIEH

oel: J|=&hl CERE)
S - E9I(ED) - KIRAIY - BAS of o pJET HIDS2

F=AD|SAE A DAAIRA 750,340 748,870 1,470
= 110,625 110,625 0
ray 554,749 554,749 0
T 84,966 83,496 1,470
HESHABH| (=MD |SAL A DAEAILA)(DIEHDIEH 477,879 476,409 1,470
s 476,409 476,409 0
T 1,470 0 1,470
J|234b| 42,610 41,140 1,470
na 41,140 41,140 0
T 1,470 0 1,470
MG PEXRA (D288 (B4 42,610 41,140 1,470
na 41,140 41,140 0
= 1,470 0 1,470
405 RHaHESHI 4,770 3,300 1,470
Fag 3,300 3,300 0
= 1,470 0 1,470
01 AL ESFHSHI 4,770 3,300 1,470
OZAHIBR(We]) 1,470 0 1,470
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